4 [122E <% > A EFEHHL ZRR2 == R4 4

#1: 3 FUE(164.58) #2: 5 ﬂETﬁlﬁlﬁ(l& 06) #3: 6 FFE(151.37)

1 NS: #% HEEI0) -15 5 NS: #iR#E MEE(EIC) 32 P:| 0.38 : 19.62| Total VP: 119.97 Rank:
EW: $8{—5¢ MEEEEAC) -32 EW: 15fXEE BRIZEN(BAO) 15 IMP:| 0 39 6
I A —
#1 a5 5DXS-2 -300 Mean: 4SE-1 50 50 6 [|#2 aT7 3SE3 -140 Mean: 1NE-3 150 40 2
v A9 4SE-150 -130 5DXS-2 300 50 2 v KJ873 3SW3-140 10  1NE-2 100 30 1
«» AK97 Dif: -350 NS:-5 5DXS-3 500 -9.0 2 ¢ QT9 Dif: 0 NS:-4 3SW-1 50 1.0 3
& A98643 IMP: -8 EW:-5 & AT9 IMP: 0 EW:4 1NE-1 50 1.0 1
& AT94 f » KQJ82 # 9532 » KJ86 3SW3 140 40 1
v QJ75 v K3 v AT I v 92 3SE3 140 40 2
¢4 ¢ JT53 ¢ J5 + AK862
& KQJ2 a»T7 » 87654 » KQ
®dIVABN 4,763 o ¢VABN 4 AQ4
N 121~~ »T8642 N ~~1~1 v Q654
S 121 ~~ +Q862 S ~~1~1 ¢743
E ~~~32 &5 E 12~3~ &J32
W ~~~32 W 12~3-~
6HS6 980 Mean: 6HS6 980 80 3 ||#4 » K54 4SE5 -650 Mean: 4SE-1 100 120 1
6HS6 980 630  4HS6 480 40 7 v A82 4SE5 -650 -560 4SW4 620 20 1
Dif: 0 NS:8 ¢ 765 Dif: 0 NS:-3 4SE4 620 20 1
IMP: 0 EW:-8 & JT53 IMP: 0 EW:3 4SW5 650 -3.0 1
& QT74 & AT98 & Q763 4SES5 650 -3.0 6
v J6 v KQT4 + v J6
¢ A985 ¢ A984 + QJ3
a T74 a K » AQ98
o OVAN 4,2
N ~~~~~ v 9753
S ~~~~~ * KT2
E ~4~55 &7642
W ~4~514
#5 s Q2 3NN-2 -200 Mean: 3NS3 600 120 1 ||#6 s J5 3SW3 -140 Mean: 4SW-1 100 40 1
v 983 3NS3 600 -70  4CN4 130 50 1 v JT 1NN190 -40  3CS3 110 40 1
* KJ3 Dif: -800 NS:-4 2SW-2 100 50 1 ¢ Q854 Dif: -230 NS:-3 1NN1 90 40 1
& AJ963 IMP: -13 EW:-12 3NN-2 200 -40 5 & KQJ97 IMP: -6 EW:-4 4CN-1 50 00 1
4 A54 & KJ976 3NN-3 300 6.0 2 ||s Q9643 » AT82 3Cs-1 50 0.0 1
v J4 v T752 v K983 — v Ad 2HS-1 -50 00 1
¢ AT842 ¢ 75 ¢ A73 + J96 3sw3 140 -30 4
& T74 » Q2 a6 » 8542
F*¢VABN ,T83 o ¢VABN 4 K7
N 4 ~3 ~1 v AKQ6 N 311~~ » Q7652
S 4~3~1 Q9 S 311 ~~ ¢KT2
E ~~~2~ &K85 E ~~~3~ &AT3
W~~~2~ W ~~~3~
#7 » 543 2NE2 -120 Mean: 4HXE-2 500 100 1 [|#8 » QJT965 4SN5 450 Mean: 4SN5 450 0.0
v Q98 4HXE-2 500 20 1NXS1 180 4.0 1 v AKT2 4SN5450 450 3NS5 460 0.0
¢ J93 Dif: -620 NS:-4 3SE-1 100 20 1 . Dif: 0 NS:0 3NS4 430 1.0 1
& J962 IMP: -12 EW:-10 3HW-1 100 20 1 & K54 IMP: 0 EW:0
& KJ97 & AQ62 3HE-1 100 20 1 » K87 & A43
v J643 + v T752 2NE2 120 40 1 ||e 543 v J97
¢ K4 ¢ AQ8 2HW2 110 -4.0 1 ¢ 8742 ¢ AQT3
* Q84 S s T5 2HE2 410 -40 1 ||a 972 » JT8
P OVAN ,T8 3CS-2 200 -6.0 1 ¢VABN 42
N 11~~~ 9AK 1NS-2 200 60 1[N 5~554 v Q86
S 11~~~ ¢T7652 S 5~554 ¢ KJ6S
E ~~222 &AK73 E ~~~~~ & AQ63
W ~~222 W ~ ~~~~




4 [122E <% > A EFEHHL ZRR2 == R4 4

#1: 3 FUE(164.58) #2: 5 ﬂETﬁlﬁlﬁ(l& 06) #3: 6 FFE(151.37)

2 NS: #aEst EUREGHO) -10 7 NS: BRE# BREIB(BAC) 10 P:| 3.77 : 16.23| Total VP: 106.65 Rank:
EW: BEESE MREFEAC) -10 EW: R2iE5 BEE(BAO) 10 IMP:| 16 : 35 8
o A —
#1 a5 4SE-1 50 Mean: 4SE-1 50 50 6 [|#2 aT7 3SE3 -140 Mean: 1NE-3 150 40 2
v A9 5DXS-3 -500 -130  5DXS-2 300 50 2 v KJ873 1NE-2100 10 1NE-2 100 30 1
» AK97 Dif: 550 NS:5 5DXS-3 500 -9.0 2 + QT9 Dif: -240 NS:-4 3SW-1 50 1.0 3
& A98643 IMP: 11 EW:9 & AT9 IMP: -6 EW:-3 1NE-1 50 1.0 1
& AT94 f » KQJ82 # 9532 » KJ86 3SW3 140 40 1
v QJ75 v K3 v AT I v 92 3SE3 140 40 2
¢4 ¢ JT53 ¢ J5 + AK862
& KQJ2 a»T7 » 87654 » KQ
®IVBN 4,763 o ¢VABN 4 AQ4
N 121~~ »T8642 N ~~1~1 v Q654
S 121 ~~ +Q862 S ~~1~1 ¢743
E ~~~32 &5 E 12~3~ #J32
W ~~~32 W 12~3-~
4HS6 480 Mean: 6HS6 980 80 3 ||#4 » K54 4SE4 -620 Mean: 4SE-1 100 120 1
6HS6 980 630  4HS6 480 40 7 v A82 4SE-1100 -560 4SW4 620 20 1
Dif: -500 NS:-4 ¢ 765 Dif: -720 NS:-2 4SE4 620 20 1
IMP: -11 EW:-8 & JT53 IMP: -12 EW:-12 4SW5 650 -3.0 1
& QT74 & AT98 & Q763 4SE5 650 -3.0 6
v J6 v KQT4 + v J6
¢ A985 ¢ A984 + QJ3
a T74 a K » AQ98
o OVAN 4,2
N ~~~~~ v 9753
S ~~~~~ * KT2
E ~4~55 &7642
W ~4~514
#5 s Q2 3NN-2 -200 Mean: 3NS3 600 120 1 ||#6 s J5 3SW3 -140 Mean: 4SW-1 100 40 1
v 983 3NN-2-200 -70  4CN4 130 50 1 v JT 4SW-1100 -40 3CS3 110 40 1
+ KJ3 Dif: 0 NS:-4 2SW-2 100 50 1 + Q854 Dif: -240 NS:-3 1NN1 90 40 1
& AJ963 IMP: 0 EW:4 3NN-2 200 -40 5 & KQJ97 IMP: -6 EW:-4 4CN-1 50 00 1
4 A54 & KJ976 3NN-3 300 6.0 2 ||s Q9643 » AT82 3Cs-1 50 0.0 1
v J4 v T752 v K983 — v Ad 2HS1 -50 00 1
¢ AT842 ¢ 75 ¢ A73 + J96 3sw3 140 -30 4
& T74 » Q2 a6 & 8542
F*¢VABN ,T83 o ¢VABN 4 K7
N 4 ~3 ~1 v AKQ6 N 311~~ v Q7652
S 4~3~1 Q9 S 311 ~~ ¢KT2
E ~~~2~ &K85 E ~~~3~ &AT3
W~~~2~ W ~~~3~
#7 » 543 3SE-1 100 Mean: 4HXE-2 500 100 1 [|#8 » QJT965 3NS5 460 Mean: 4SN5 450 0.0
v Q98 2HW2 -110 20 1NXS1 180 4.0 1 v AKT2 3NS5460 450 3NS5 460 0.0
¢ J93 Dif: 210 NS:2 3SE-1 100 20 1 . Dif: 0 NS:0 3NS4 430 1.0 1
& J962 IMP: 5 EW:4 3HW-1 100 20 1 & K54 IMP: 0 EW:0
& KJ97 & AQ62 3HE-1 100 20 1 » K87 & A43
v J643 + v T752 2NE2 120 40 1 ||e 543 v J97
¢ K4 + AQ8 2HW2 110  -40 1 ||e 8742 ¢ AQT3
* Q84 S s T5 2HE2 410 -40 1 ||a 972 » JT8
P OVAN ,T8 3CS-2 200 -6.0 1 ¢VABN 42
N 11~~~ oAK 1NS-2 200 60 1|IN 5~554 Q86
S 11~~~ ¢T7652 S 5~554 ¢ KJ65
E ~~222 &AK73 E ~~~~~ & AQ63
W ~~222 W ~ ~~~~




112 £ F > A EREHL 2RR2 =

=> R4

#1: 3 FUE(164.58) #2: 5 ﬂETﬁlﬁlﬁ(l& 06) #3: 6 T=A@(151.37)

NS: I#57 BREERGA0) 9 NS: S20A38 3R1EAA(AC) 1] 16.23 : 3.77 | Total VP:| 164.58 Rank
EW: #{— & BESFE(EAC) 13 EW: EII7R EBE(BAO) -9) IMP:} 19 : 0
o A -
a5 4SE-1 50 4SE-1 50 5.0 # 2 s T7 1NE-3 150 Mean: 1NE-3 150 40 2
v A9 4SE-1 50 5DXS-2 -300 -5.0 v KJ873 1NE-3150 10  1NE-2 100 3.0 1
» AK97 Dif: 0 5DXS-3 -500 -9.0 + QT9 Dif: 0 NS:4 3SwW-1 50 1.0 3
& A98643 IMP: 0 & AT9 IMP: 0 EW:-4 1NE-1 50 10 1
Y » KQJ82 # 9532 » KJ86 3SW3 140 40 1
v v K3 v AT I v 92 3SE3 140 40 2
3 ¢ JT53 J5 + AK862
& a»T7 » 87654 » KQ
V&N 4,763 ¢V AN 4 AQ4
N 1~ ~ ¢ T8642 N ~~1~1 v Q654
S 1~ ~ ¢ Q862 S ~~1~1 ¢743
E ~32 a5 E 12~3~ &J32
w ~32 W 12~3~
s KJ 4HS6 480 6HS6 980 8.0 # 4 » K54 4SE5 -650 Mean: 4SE-1 100 120 1
v 8754 4HS6 480 4HS6 480  -4.0 v A82 4SW5 -650 -560  4SW4 620 20 1
¢ T62 Dif: 0 ¢ 765 Dif: 0 NS:-3 4SE4 620 20 1
& AJ65 IMP: 0 & JT53 IMP: 0 EW:3 4SW5 650 -3.0 1
& QT74 & AT98 & Q763 4SES5 650 -3.0 6
v J6 v KQT4 _I_ v J6
¢ A985 ¢ A984 + QJ3
a T74 a K » AQ98
o OVAN 4,2
N ~~~~~ v 9753
S ~~~~~ ¢ KT2
E ~4~55 &7642
W ~4~514
s Q2 2SW-2 100 3NS3 600 120 1 ||#6 s J5 4CN-1 -50 Mean: 4SW-1 100 40 1
v 983 3NN-3 -300 4CN4 130 50 1 v JT 3SW3-140 -40 3CS3 110 40 1
+ KJ3 Dif: 400 2SW-2 100 50 1 + Q854 Dif: 90 NS:0 1NN1 90 40 1
& AJ963 IMP: 9 3NN-2 200 -40 5 & KQJ97 IMP: 3 EW:3 4CN-1 50 00 1
& KJ976 3NN-3 300 -6.0 2 ||a Q9643 » AT82 3Cs-1 50 0.0 1
v T752 v K983 — v Ad 2HS-1 -50 00 1
¢ 75 ¢ A73 + J96 3sw3 140 -30 4
» Q2 a6 & 8542
SN ,T83 o ¢VABN 4 K7
~ 1 « AKQ6 N 311~~ » Q7652
~1 ¢ Q9% S 311 ~~ ¢KT2
2 ~ & K85 E ~~~3~ &AT3
2 ~ W ~~~3~
» 543 3HE-1 100 4HXE-2 500 10.0 1 [|# 8 » QJT965 3NS5 460 Mean: 4SN5 450 0.0
v Q98 1NS-2 -200 1NXS1 180 4.0 1 v AKT2 3NS5460 450 3NS5 460 0.0
¢ J93 Dif: 300 2 3SE-1 100 20 1 . Dif: 0 NS:0 3NS4 430 1.0 1
& J962 IMP: 7 EW:6 3HW-1 100 20 1 & K54 IMP: 0 EW:0
» AQ62 3HE-1 100 2.0 1 ||as K87 a A43
+ v T752 2NE2 120 40 1 ||e 543 v J97
+ AQ8 2HW2 110  -40 1 ||e 8742 + AQT3
S s T5 2HE2 410 -40 1 ||a 972 » JT8
VAN ,T8 3CS-2 200 -6.0 1 *OIVAN o2
~ ~~ 9AK 1NS-2 200 -60 1||N 5~554 ¢ Q86
~ ~ ~ ¢ T7652 S 5~554 ¢ KJ6S
2 22 &AK73 E ~~~~~ & AQ63
222 W ~~~~~




4 [122E <% > A EFEHHL ZRR2 == R4 4

#1: 3 ﬁ‘ﬂl%(l64 58) #2: 5 ﬂETﬁlﬁlﬁ(l& 06) #3: 6 FFE(151.37)

4 NS: Zikess [A528h(3H0) -11 8 S: 215 FEIE(FC) -11 P:/ 10.00 : 10.00| Total VP: 96.31 Rank:
EW: PG HEE&EAC) 11 EW: &igT RERI(BO) 11 IMP:| 12 : 12 10
I A
#1 45 5DXS-2 -300 Mean: 4SE-1 50 50 6 ||#2 s T7 3SW-150 Mean: 1NE-3 150 40 2
v A9 4SE-150 -130 5DXS-2 300 50 2 v KJ873 3SW-150 10  1NE-2 100 3.0 1
» AK97 Dif: -350 NS:-5 5DXS-3 500 -9.0 2 + QT9 Dif: 0 NS:1  3SwW-1 50 1.0 3
& A98643 IMP: -8 EW:-5 & AT9 IMP: 0 EW:-1  1NE-1 50 1.0 1
& AT94 f » KQJ82 # 9532 » KJ86 3SW3 140 40 1
v QJ75 v K3 v AT I v 92 3SE3 140 40 2
¢4 ¢ JT53 ¢ J5 + AK862
& KQJ2 a»T7 » 87654 » KQ
®dIVABN 4,763 o ¢VABN 4 AQ4
N 121~~ »T8642 N ~~1~1 v Q654
S 121 ~~ +Q862 S ~~1~1 ¢743
E ~~~32 &5 E 12~3~ &J32
W ~~~32 W 12~3~
4HS6 480 Mean: 6HS6 980 80 3 ||#4 » K54 4SW4 -620 Mean: 4SE-1 100 120 1
4HS6 480 630  4HS6 480 40 7 v A82 4SE5 -650 -560 4SW4 620 20 1
Dif: 0 NS:-4 ¢ 765 Dif: 30 NS:-2 4SE4 620 20 1
IMP: 0 EW:4 & JT53 IMP: 1 EW:3 4SW5 650 -3.0 1
& QT74 & AT98 & Q763 4SES5 650 -3.0 6
v J6 v KQT4 + v J6
¢ A985 ¢ A984 + QJ3
a T74 a K » AQ98
o OVAN 4,2
N ~~~~~ v 9753
S ~~~~~ * KT2
E ~4~55 &7642
W ~4~54
#5 s Q2 3NN-3 -300 Mean: 3NS3 600 120 1 ||#6 s J5 3CS3110 Mean: 4SW-1 100 40 1
v 983 3NN-2-200 -70  4CN4 130 50 1 v JT 3CS-1-50 -40  3CS3 110 40 1
+ KJ3 Dif: -100 NS:-6 2SW-2 100 50 1 + Q854 Dif: 160 NS:4 1NN1 90 40 1
& AJ963 IMP: -3 EW:4 3NN-2 200 -40 5 & KQJ97 IMP: 4 EW:0 4CN-1 50 00 1
& A54 & KJ976 3NN-3 300 -6.0 2 ||a Q9643 » AT82 3Cs-1 50 0.0 1
v J4 v T752 v K983 — v Ad 2HS-1 -50 00 1
¢ AT842 ¢ 75 ¢ A73 + J96 3sw3 140 -30 4
& T74 » Q2 a6 » 8542
F*¢VABN ,T83 o ¢VABN 4 K7
N 4 ~3 ~1 v AKQ6 N 311~~ » Q7652
S 4~3~1 Q9 S 311 ~~ ¢KT2
E ~~~2~ &K85 E ~~~3~ &AT3
W ~~~2~ W ~~~3~
#7 » 543 3HW-1 100 Mean: 4HXE-2 500 10.0 1 [|# 8 » QJT965 3NS4 430 Mean: 4SN5 450 0.0
v Q98 3CS-2-200 20  1NXS1 180 4.0 1 v AKT2 4SN5450 450 3NS5 460 0.0
¢ J93 Dif: 300 NS:2 3SE-1 100 20 1 . Dif: -20 NS:-1  3NS4 430 1.0 1
& J962 IMP: 7 EW:6 3HW-1 100 20 1 & K54 IMP: -1 EW:0
& KJ97 & AQ62 3HE-1 100 20 1 » K87 & A43
v J643 + v T752 2NE2 120 40 1 ||e 543 v J97
¢ K4 ¢ AQ8 2HW2 110 -4.0 1 ¢ 8742 ¢ AQT3
* Q84 S s T5 2HE2 410 -40 1 ||a 972 » JT8
P OVAN ,T8 3CS-2 200 -6.0 1 ¢VABN 42
N 11~~~ 9AK 1NS-2 200 60 1[N 5~554 v Q86
S 11~~~ ¢T7652 S 5~554 ¢ KJ65
E ~~222 &AK73 E ~~~~~ & AQ63
W ~~222 W ~ ~~~~




112 £ F > A EREHL 2RR2 =

=> R4

#1: 3 FUE(164.58) #2: 5 ﬂETﬁlﬁlﬁ(l& 06) #3: 6 T=A@(151.37)

NS: HfRpE G IR (FC) 32 1 NS: 333 i (B10) -15 19.62 : 0.38 | Total VP: 163.06 Rank
EW: 1&ikEE BREBH(BFHO) 15 EW: $E{_# MEFR(BAC) -3 IMP:} 39 : O 2
I A o
a5 5DXS-2 300 Mean: 4SE-1 50 5.0 #2 aT7 3SE3 140 Mean: 1NE-3 150 40 2
v A9 4SE-1-50 -130  5DXS-2 -300 -5.0 v KJ873 3SW3140 10  1NE-2 100 3.0 1
» AK97 Dif: 350 NS:5 5DXS-3 -500 -9.0 + QT9 Dif: 0 NS:-4 3SwW-1 50 1.0 3
& A98643 IMP: 8 EW:5 & AT9 IMP: 0 EW:4 1NE-1 50 1.0 1
Y » KQJ82 # 9532 » KJ86 3SW3 140 40 1
v v K3 v AT I v 92 3SE3 140 40 2
3 ¢ JT53 J5 + AK862
& a»T7 » 87654 » KQ
V&N 4,763 ¢V AN 4 AQ4
N 1~ ~ ¢ T8642 N ~~1~1 v Q654
S 1~ ~ ¢ Q862 S ~~1~1 ¢743
E ~32 a5 E 12~3~ &J32
w ~32 W 12~3~
s KJ 6HS6 -980 Mean: 6HS6 980 8.0 # 4 » K54 4SE5 650 Mean: 4SE-1 100 120 1
v 8754 6HS6 -980 630  4HS6 480  -4.0 v A82 4SE5 650 -560 4SW4 620 20 1
¢ T62 Dif: 0 NsS:8 ¢ 765 Dif: 0 NS:-3 4SE4 620 20 1
& AJ65 IMP: 0 EW:-8 & JT53 IMP: 0 EW:3 4SW5 650 -3.0 1
& QT74 & AT98 & Q763 4SES5 650 -3.0 6
v J6 v KQT4 + v J6
¢ A985 ¢ A984 + QJ3
a T74 a K » AQ98
o OVAN 4,2
N ~~~~~ v 9753
S ~~~~~ ¢ KT2
E ~4~55 &7642
W ~4~514
s Q2 3NN-2200 Mean: 3NS3 600 120 1 ||#6 s J5 3SW3 140 Mean: 4SW-1 100 40 1
v 983 3NS3-600 -70  4CN4 130 50 1 v JT 1NN1-90 -40  3CS3 110 40 1
+ KJ3 Dif: 800 NS:12 2SW-2 100 50 1 + Q854 Dif: 230 NS:4 1NN1 90 40 1
& AJ963 IMP: 13 EW:4 3NN-2 200 -40 5 & KQJ97 IMP: 6 EW:3 4CN-1 50 00 1
& KJ976 3NN-3 300 -6.0 2 ||a Q9643 » AT82 3Cs-1 50 0.0 1
v T752 v K983 — v Ad 2HS-1 -50 00 1
¢ 75 ¢ A73 + J96 3sw3 140 -30 4
» Q2 a6 & 8542
SN ,T83 o ¢VABN 4 K7
~ 1 « AKQ6 N 311~~ » Q7652
~1 ¢ Q9% S 311 ~~ ¢KT2
2 ~ & K85 E ~~~3~ &AT3
2 ~ W ~~~3~
» 543 2NE2 120 Mean: 4HXE-2 500 10.0 1 [|# 8 » QJT965 4SN5 -450 Mean: 4SN5 450 0.0
v Q98 4HXE-2 -500 20  1NXS1 180 4.0 1 v AKT2 4SN5 -450 450 3NS5 460 0.0
¢ J93 Dif: 620 NS:10 3SE-1 100 20 1 . Dif: 0 NS:0 3NS4 430 1.0 1
& J962 IMP: 12 EW:4  3HW-1 100 20 1 & K54 IMP: 0 EW:0
» AQ62 3HE-1 100 20 1 ||s K87 a A43
+ v T752 2NE2 120 40 1 ||e 543 v J97
+ AQ8 2HW2 110  -40 1 ||e 8742 + AQT3
S s T5 2HE2 410 -40 1 ||a 972 » JT8
VAN ,T8 3CS-2 200 -6.0 1 *OIVAN o2
~ ~~ 9AK 1NS-2 200 -60 1||N 5~554 ¢ Q86
~ ~ ~ ¢ T7652 S 5~554 ¢ KJ65
2 22 &AK73 E ~~~~~ & AQ63
222 W ~ ~~~~




: ¥ RR2 = 4
4 112 F5 3 > FIpEEFHL ZRR2 ==> R 4
#1: 3 FHUE(164.58) #2: 5 ﬁkfﬁlﬁlﬁ(l& 06) #3: 6 F=18(151.37)
6 NS: #Z4H FAfaZGE0) -9 10 NS: 81818 FBIF(EAC) -9 P:| 9.56 : 10.44| Total VP: 151.37 Rank
EW: 558 548 EAC) 9 EW: REH ZX#E(BO) 9 IMP:| 14 : 15 3
o A —
#1 a5 4SE-1 50 Mean: 4SE-1 50 50 6 [|#2 aT7 1NE-1 50 Mean: 1NE-3 150 40 2
v A9 5DXS-3 -500 -130  5DXS-2 300 50 2 v KJ873 3SW-150 10  1NE-2 100 30 1
» AK97 Dif: 550 NS:5 5DXS-3 500 -9.0 2 + QT9 Dif: 0 NS:1  3SwW-1 50 1.0 3
& A98643 IMP: 11 EW:9 & AT9 IMP: 0 EW:-1  1NE-1 50 1.0 1
& AT94 f » KQJ82 # 9532 » KJ86 3SW3 140 40 1
v QJ75 v K3 v AT I v 92 3SE3 140 40 2
¢4 ¢ JT53 ¢ J5 + AK862
& KQJ2 a»T7 » 87654 » KQ
®dIVABN 4,763 o ¢VABN 4 AQ4
N 121~~ »T8642 N ~~1~1 v Q654
S 121 ~~ +Q862 S ~~1~1 ¢743
E ~~~32 &5 E 12~3~ &J32
W ~~~32 W 12~3-~
4HS6 480 Mean: 6HS6 980 80 3 ||#4 » K54 4SE5 -650 Mean: 4SE-1 100 120 1
4HS6 480 630  4HS6 480 40 7 v A82 4SE5 -650 -560 4SW4 620 20 1
Dif: 0 NS:-4 ¢ 765 Dif: 0 NS:-3 4SE4 620 20 1
IMP: 0 EW:4 & JT53 IMP: 0 EW:3 4SW5 650 -3.0 1
& QT74 & AT98 & Q763 4SES5 650 -3.0 6
v J6 v KQT4 + v J6
¢ A985 ¢ A984 + QJ3
a T74 a K » AQ98
o OVAN 4,2
N ~~~~~ v 9753
S ~~~~~ ¢ KT2
E ~4~55 &7642
W ~4~514
#5 s Q2 3NN-2 -200 Mean: 3NS3 600 120 1 ||#6 s J5 2HS-1-50 Mean: 4SW-1 100 40 1
v 983 4CN4 130 -70  4CN4 130 50 1 v JT 3SW3-140 -40 3CS3 110 40 1
+ KJ3 Dif: -330 NS:-4 2SW-2 100 50 1 + Q854 Dif: 90 NS:0 1NN1 90 40 1
& AJ963 IMP: -8 EW:-5 3NN-2 200 -40 5 & KQJ97 IMP: 3 EW:3 4CN-1 50 00 1
4 A54 & KJ976 3NN-3 300 6.0 2 ||s Q9643 » AT82 3Cs-1 50 0.0 1
v J4 v T752 v K983 — v Ad 2HS-1 -50 00 1
¢ AT842 ¢ 75 ¢ A73 + J96 3sw3 140 -30 4
& T74 » Q2 a6 » 8542
F*¢VABN ,T83 o ¢VABN 4 K7
N 4 ~3 ~1 v AKQ6 N 311~~ » Q7652
S 4~3~1 Q9 S 311 ~~ ¢KT2
E ~~~2~ &K85 E ~~~3~ &AT3
W~~~2~ W ~~~3~
#7 » 543 2HE2 -110 Mean: 4HXE-2 500 100 1 [|#8 » QJT965 4SN5 450 Mean: 4SN5 450 0.0
v Q98 1NXS1180 20  1NXS1 180 4.0 1 v AKT2 4SN5450 450 3NS5 460 0.0
¢ J93 Dif: -290 NS:-4 3SE-1 100 20 1 . Dif: 0 NS:0 3NS4 430 1.0 1
& J962 IMP: -7 EW:-4 3HW-1 100 20 1 & K54 IMP: 0 EW:0
& KJ97 & AQ62 3HE-1 100 20 1 » K87 & A43
v J643 + v T752 2NE2 120 40 1 ||e 543 v J97
¢ K4 ¢ AQ8 2HW2 110 -4.0 1 ¢ 8742 ¢ AQT3
* Q84 S s T5 2HE2 410 -40 1 ||a 972 » JT8
P OVAN ,T8 3CS-2 200 -6.0 1 *OIVAN o2
N 11~~~ 9AK 1NS-2 200 60 1[N 5~554 v Q86
S 11~~~ ¢T7652 S 5~554 ¢ KJ65
E ~~222 &AK73 E ~~~~~ & AQ63
W ~~222 W ~ ~~~~




: ¥ RR2 = 4
4 112 F5 3 > FIpEEFHL ZRR2 ==> R 4
#1: 3 FHUE(164.58) #2: 5 ﬁkfﬁlﬁlﬁ(l& 06) #3: 6 F=18(151.37)
7 NS: BssE BREIREAC) 10 2 NS: EEH 2ImEBIo) -1 P:| 16.23 : 3.77 Total VP: 138.36 Rank
EW: BE7 SEE5EE0) 10 EW: [RE<F MigF(BAC) 1 IMP:| 35 : 16 5
— A o
#1 a5 4SE-1 -50 Mean: 4SE-1 50 50 6 [|#2 aT7 3SE3 140 Mean: 1NE-3 150 40 2
v A9 5DXS-3 500 -130  5DXS-2 300 50 2 v KJ873 1NE-2-100 10  1NE-2 100 30 1
» AK97 Dif: -550 NS:-9 5DXS-3 500 -9.0 2 + QT9 Dif: 240 NS:3 3SW-1 50 1.0 3
& A98643 IMP: -11 EW:-5 & AT9 IMP: 6 EW:4 1NE-1 50 1.0 1
& AT94 f » KQJ82 # 9532 » KJ86 3SW3 140 40 1
v QJ75 v K3 v AT I v 92 3SE3 140 40 2
¢4 ¢ JT53 ¢ J5 + AK862
& KQJ2 a»T7 » 87654 » KQ
®dIVABN 4,763 o ¢VABN 4 AQ4
N 121~~ »T8642 N ~~1~1 v Q654
S 121 ~~ +Q862 S ~~1~1 ¢743
E ~~~32 &5 E 12~3~ &J32
W ~~~32 W 12~3-~
4HS6 -480 Mean: 6HS6 980 80 3 ||#4 » K54 4SE4 620 Mean: 4SE-1 100 120 1
6HS6 -980 630  4HS6 480 40 7 v A82 4SE-1-100 -560 4SwW4 620 20 1
Dif: 500 NS:8 ¢ 765 Dif: 720 NS:12 4SE4 620 20 1
IMP: 11 EW:4 & JT53 IMP: 12 EW:2 4SW5 650 -3.0 1
& QT74 & AT98 & Q763 4SES5 650 -3.0 6
v J6 v KQT4 + v J6
¢ A985 ¢ A984 + QJ3
a T74 a K » AQ98
o OVAN 4,2
N ~~~~~ v 9753
S ~~~~~ * KT2
E ~4~55 &7642
W ~4~514
#5 s Q2 3NN-2 200 Mean: 3NS3 600 120 1 ||#6 s J5 3SW3 140 Mean: 4SW-1 100 40 1
v 983 3NN-2200 -70  4CN4 130 50 1 v JT 4SW-1-100 -40 3CS3 110 40 1
* KJ3 Dif: 0 NS:-4 2SW-2 100 50 1 ¢ Q854 Dif: 240 NS:4 1NN1 90 40 1
& AJ963 IMP: 0 EW:4 3NN-2 200 -40 5 & KQJ97 IMP: 6 EW:3 4CN-1 50 00 1
4 A54 & KJ976 3NN-3 300 6.0 2 ||s Q9643 » AT82 3Cs-1 50 0.0 1
v J4 v T752 v K983 — v Ad 2HS-1 -50 00 1
¢ AT842 ¢ 75 ¢ A73 + J96 3sw3 140 -30 4
& T74 » Q2 a6 » 8542
F*¢VABN ,T83 o ¢VABN 4 K7
N 4 ~3 ~1 v AKQ6 N 311~~ » Q7652
S 4~3~1 Q9 S 311 ~~ ¢KT2
E ~~~2~ &K85 E ~~~3~ &AT3
W~~~2~ W ~~~3~
#7 » 543 3SE-1-100 Mean: 4HXE-2 500 100 1 [|#8 » QJT965 3NS5 -460 Mean: 4SN5 450 0.0
v Q98 2HW2 110 20 1NXS1 180 4.0 1 v AKT2 3NS5 -460 450 3NS5 460 0.0
¢ J93 Dif: -210 NS:-4 3SE-1 100 20 1 . Dif: 0 NS:0 3NS4 430 1.0 1
& J962 IMP: -5 EW:-2 3HW-1 100 20 1 & K54 IMP: 0 EW:0
& KJ97 & AQ62 3HE-1 100 20 1 » K87 & A43
v J643 + v T752 2NE2 120 40 1 ||e 543 v J97
¢ K4 ¢ AQ8 2HW2 110 -4.0 1 ¢ 8742 ¢ AQT3
* Q84 S s T5 2HE2 410 -40 1 ||a 972 » JT8
P OVAN ,T8 3CS-2 200 -6.0 1 *OIVAN o2
N 11~~~ 9AK 1NS-2 200 60 1[N 5~554 v Q86
S 11~~~ ¢T7652 S 5~554 ¢ KJ6S
E ~~222 &AK73 E ~~~~~ & AQ63
W ~~222 W ~ ~~~~




112 £ F > A EREHL 2RR2 =

=> R4

#1: 3 FUE(164.58) #2: 5 ﬂETﬁlﬁlﬁ(l& 06) #3: 6 T=A@(151.37)

NS: ¥ BEFEEEC) -11 4 NS: Hiinss AR EN(BO) -1 10.00 : 10.00| Total VP: 138.63 Rank
EW: #iE T SEBEEI0) 11 EW: M5 B4 (BAC) 11 IMP:| 12 : 12 4
I A -
a5 5DXS-2 300 Mean: 4SE-1 50 50 6 [|#2 aT7 3SW-1-50 Mean: 1NE-3 150 40 2
v A9 4SE-1-50 -130  5DXS-2 300 50 2 v KJ873 3SW-1-50 10 1NE-2 100 30 1
» AK97 Dif: 350 NS:5 5DXS-3 500 -9.0 2 + QT9 Dif: 0 NS:1  3SwW-1 50 1.0 3
& A98643 IMP: 8 EW:5 & AT9 IMP: 0 EW:-1  1NE-1 50 1.0 1
Y » KQJ82 # 9532 » KJ86 3SW3 140 40 1
v v K3 v AT I v 92 3SE3 140 40 2
3 ¢ JT53 ¢ J5 + AK862
& a»T7 » 87654 » KQ
V&N 4,763 *eVAN 4, AQ4
N 1~ ~ v T8642 N ~~1~1 v Q654
S 1~ ~ ¢ Q862 S ~~1~1 ¢743
E ~32 a5 E 12~3~ #J32
w ~32 W 12~3-~
s KJ 4HS6 -480 Mean: 6HS6 980 80 3 ||#4 » K54 4SW4 620 Mean: 4SE-1 100 120 1
v 8754 4HS6 -480 630  4HS6 480 40 7 v A82 4SE5 650 -560 4SW4 620 20 1
¢ T62 Dif: 0 NS:-4 ¢ 765 Dif: -30 NS:-3 4SE4 620 20 1
& AJ65 IMP: 0 EW:4 & JT53 IMP: -1 EW:2 4SW5 650 -3.0 1
& QT74 & AT98 & Q763 4SES5 650 -3.0 6
v J6 v KQT4 + v J6
¢ A985 ¢ A984 + QJ3
a T74 a K » AQ98
o OVAN 4,2
N ~~~~~ v 9753
S ~~~~~ * KT2
E ~4~55 &7642
W ~4~514
s Q2 3NN-3 300 Mean: 3NS3 600 120 1 ||#6 s J5 3CS3 -110 Mean: 4SW-1 100 40 1
v 983 3NN-2200 -70  4CN4 130 50 1 v JT 3CS-150 -40  3CS3 110 40 1
+ KJ3 Dif: 100 NS:-4 2SW-2 100 50 1 + Q854 Dif: 160 NS:0 1NN1 90 40 1
& AJ963 IMP: 3 EW:6 3NN-2 200 -40 5 & KQJ97 IMP: -4 EW:-4 4CN-1 50 00 1
& KJ976 3NN-3 300 6.0 2 ||s Q9643 » AT82 3Cs-1 50 0.0 1
v T752 v K983 — v Ad 2HS-1 -50 00 1
¢ 75 ¢ A73 + J96 3sw3 140 -30 4
» Q2 a6 & 8542
SN ,T83 o ¢VABN 4 K7
~ 1 « AKQ6 N 311~~ » Q7652
~1 ¢ Q9% S 311 ~~ ¢KT2
2 ~ & K85 E ~~~3~ &AT3
2 ~ W ~~~3~
» 543 3HW-1-100 Mean: 4HXE-2 500 100 1 [|#8 » QJT965 3NS4 -430 Mean: 4SN5 450 0.0
v Q98 3CS-2200 20 1NXS1 180 4.0 1 v AKT2 4SN5 -450 450 3NS5 460 0.0
¢ J93 Dif: -300 NS:-6 3SE-1 100 20 1 . Dif: 20 NS:0 3NS4 430 1.0 1
& J962 IMP: -7 EW:-2 3HW-1 100 20 1 & K54 IMP: 1 EW:1
» AQ62 3HE-1 100 2.0 1 ||as K87 a A43
+ v T752 2NE2 120 -40 1 ||w 543 v J97
¢ AQ8 2HW2 110 -4.0 1 ¢ 8742 ¢ AQT3
S s T5 2HE2 110 -40 1 ||a 972 » JT8
VAN ,T8 3CS-2 200 -6.0 1 *OIVAN o2
~ ~~ 9AK 1NS-2 200 -60 1||N 5~554 ¢ Q86
~ ~ ~ ¢ T7652 S 5~554 ¢ KJ65
2 2 2 &AKT3 E ~~~~~ & AQ63
222 W ~ ~~~~




4 [122E <% > A EFEHHL ZRR2 == R4 4

#1: 3 ﬁ‘ﬂl%(l64 58) #2: 5 ﬂETﬁlﬁlﬁ(l& 06) #3: 6 FFE(151.37)

9 NS: S=HH3 5REBHERC) -13 3 S: BIifl3S BREBR(FHO) 9 P:| 3.77 : 16.23| Total VP: 118.21 Rank:
EW: EIh78 EBEEI0) -9 EW: #F{_E BRFR(BAC) 13 IMP:| 0 19 7
— A —
#1 a5 4SE-1 -50 Mean: 4SE-1 50 50 6 [|#2 aT7 1NE-3 -150 Mean: 1NE-3 150 40 2
v A9 4SE-1-50 -130  5DXS-2 300 50 2 v KJ873 1NE-3-150 10  1NE-2 100 30 1
» AK97 Dif: 0 NS:5 5DXS-3 500 -9.0 2 + QT9 Dif: 0 NS:4 3SwW-1 50 1.0 3
& A98643 IMP: 0 EW:-5 & AT9 IMP: 0 EW:-4 1NE-1 50 1.0 1
& AT94 f » KQJ82 # 9532 » KJ86 3SW3 140 40 1
v QJ75 v K3 v AT I v 92 3SE3 140 40 2
¢4 ¢ JT53 ¢ J5 + AK862
& KQJ2 a»T7 » 87654 » KQ
®dIVABN 4,763 o ¢VABN 4 AQ4
N 121~~ »T8642 N ~~1~1 v Q654
S 121 ~~ +Q862 S ~~1~1 ¢743
E ~~~32 &5 E 12~3~ &J32
W ~~~32 W 12~3~
4HS6 -480 Mean: 6HS6 980 80 3 ||#4 » K54 4SE5 650 Mean: 4SE-1 100 120 1
4HS6 -480 630  4HS6 480 40 7 v A82 4SW5 650 -560  4SW4 620 20 1
Dif: 0 NS:-4 ¢ 765 Dif: 0 NS:-3 4SE4 620 20 1
IMP: 0 EW:4 & JT53 IMP: 0 EW:3 4SW5 650 -3.0 1
& QT74 & AT98 & Q763 4SES5 650 -3.0 6
v J6 v KQT4 + v J6
¢ A985 ¢ A984 + QJ3
a T74 a K » AQ98
o OVAN 4,2
N ~~~~~ v 9753
S ~~~~~ * KT2
E ~4~55 &7642
W ~4~514
#5 s Q2 2SW-2 -100 Mean: 3NS3 600 120 1 ||#6 s J5 4CN-1 50 Mean: 4SW-1 100 40 1
v 983 3NN-3300 -70  4CN4 130 50 1 v JT 3SW3140 -40  3CS3 110 40 1
* KJ3 Dif: -400 NS:-6 2SW-2 100 50 1 ¢ Q854 Dif: -90 NS:-3 1NN1 90 40 1
& AJ963 IMP: -9 EW:-5 3NN-2 200 -40 5 & KQJ97 IMP: -3 EW:0 4CN-1 50 00 1
& A54 & KJ976 3NN-3 300 6.0 2 ||s Q9643 » AT82 3Cs-1 50 0.0 1
v J4 v T752 v K983 — v Ad 2HS-1 -50 00 1
¢ AT842 ¢ 75 ¢ A73 + J96 3sw3 140 -30 4
& T74 » Q2 a6 » 8542
F*¢VABN ,T83 o ¢VABN 4 K7
N 4 ~3 ~1 v AKQ6 N 311~~ » Q7652
S 4~3~1 Q9 S 311 ~~ ¢KT2
E ~~~2~ &K85 E ~~~3~ &AT3
W ~~~2~ W ~~~3~
#7 » 543 3HE-1-100 Mean: 4HXE-2 500 100 1 [|#8 » QJT965 3NS5 -460 Mean: 4SN5 450 0.0
v Q98 1NS-2200 20 1NXS1 180 4.0 1 v AKT2 3NS5 -460 450 3NS5 460 0.0
¢ J93 Dif: -300 NS:-6 3SE-1 100 20 1 . Dif: 0 NS:0 3NS4 430 1.0 1
& J962 IMP: -7 EW:-2 3HW-1 100 20 1 & K54 IMP: 0 EW:0
& KJ97 & AQ62 3HE-1 100 20 1 » K87 & A43
v J643 + v T752 2NE2 120 40 1 ||e 543 v J97
¢ K4 ¢ AQ8 2HW2 110 -4.0 1 ¢ 8742 ¢ AQT3
* Q84 S s T5 2HE2 410 -40 1 ||a 972 » JT8
P OVAN ,T8 3CS-2 200 -6.0 1 ¢VABN 42
N 11~~~ 9AK 1NS-2 200 60 1[N 5~554 v Q86
S 11~~~ ¢T7652 S 5~554 ¢ KJ6S
E ~~222 &AK73 E ~~~~~ & AQ63
W ~~222 W ~ ~~~~




112 £ F > A EREHL 2RR2 =

=> R4

#1: 3 FUE(164.58) #2: 5 ﬂETﬁlﬁlﬁ(l& 06) #3: 6 T=A@(151.37)

NS: ¥ & 38 FFIrEEAC) -9 NS: #5148 &1 (BA0) -9 10.44 : 9.56 Total VP: 101.86 Rank
EW: 5REHR = EEE0) 9 EW: Z=251F 2BiEi8(BAC) 9 IMP:| 15 : 14 9
— A -
45 4SE-1 -50 4SE-1 50 50 6 ||#2 s T7 1NE-1 -50 1NE-3 150 40 2
v A9 5DXS-3 500 5DXS-2 300 50 2 v KJ873 3SW-1 -50 1NE-2 100 30 1
» AK97 Dif: -550 5DXS-3 500 -9.0 2 + QT9 Dif: 0 3SW-1 50 1.0 3
& A98643 IMP: -11 & AT9 IMP: 0 1NE-1 50 10 1
» KQJ82 # 9532 » KJ86 3SW3 140 40 1
v K3 v AT I v 92 3SE3 140 40 2
¢ JT53 J5 + AK862
a»T7 & 87654 » KQ
V&N 4,763 ¢V AN 4 AQ4
1~ ~ ¢ T8642 N ~~1~1 v Q654
1~ ~ ¢ Q862 S ~~1~1 ¢743
~32 &5 E 12~3~ #J32
~32 W 12~3~
4HS6 -480 6HS6 980 80 3 ||#4 » K54 4SE5 650 4SE-1 100 120 1
4HS6 -480 4HS6 480 40 7 v A82 4SE5 650 4SW4 620 20 1
Dif: 0 ¢ 765 Dif: 0 4SE4 620 20 1
IMP: 0 & JT53 IMP: 0 4SW5 650 -3.0 1
& QT74 & AT98 & Q763 4SE5 650 -3.0 6
v J6 v KQT4 + v J6
¢ A985 ¢ A984 + QJ3
a T74 a K » AQ98
o OVAN 4,2
N ~~~~~ v 9753
S ~~~~~ * KT2
E ~4~55 &7642
W ~4~514
s Q2 3NN-2 200 3NS3 600 120 1 ||#6 s J5 2HS-1 50 4SW-1 100 40 1
v 983 4CN4 -130 4CN4 130 50 1 v JT 3SW3 140 3CSs3 110 40 1
+ KJ3 Dif: 330 2SW-2 100 50 1 + Q854 Dif: -90 1NN1 90 40 1
& AJ963 IMP: 8 3NN-2 200 -40 5 & KQJ97 IMP: -3 4CN-1 50 00 1
& KJ976 3NN-3 300 6.0 2 ||s Q9643 » AT82 3Cs-1 50 0.0 1
v T752 v K983 — v Ad 2HS1 -50 00 1
¢ 75 ¢ A73 + J96 3sw3 140 -30 4
» Q2 a6 & 8542
SN ,T83 o ¢VABN 4 K7
~ 1 « AKQ6 N 311~~ v Q7652
~1 ¢ Q9% S 311 ~~ ¢KT2
2 ~ & K85 E ~~~3~ &AT3
2 ~ W ~~~3~
» 543 2HE2 110 4HXE-2 500 100 1 [|#8 » QJT965 4SN5 -450 4SN5 450 0.0
v Q98 1NXS1 -180 1NXS1 180 4.0 1 v AKT2 4SN5 -450 3NS5 460 0.0
¢ J93 Dif: 290 14  3SE-1 100 20 1 . Dif: 0 NS:0 3NS4 430 1.0 1
& J962 IMP: 7 EW:4 3HW-1 100 20 1 & K54 IMP: 0 EW:0
» AQ62 3HE-1 100 2.0 1 ||as K87 a A43
+ v T752 2NE2 120 40 1 ||e 543 v J97
+ AQ8 2HW2 110  -40 1 ||e 8742 ¢ AQT3
S s T5 2HE2 410 -40 1 ||a 972 » JT8
VAN ,T8 3CS-2 200 -6.0 1 *OIVAN o2
~ ~~ 9AK 1NS-2 200 -60 1||N 5~554 ¢ Q86
~ ~ ~ ¢ T7652 S 5~554 ¢ KJ65
2 2 2 &AKT3 E ~~~~~ & AQ63
222 W ~ ~~~~




